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, 2.1
, PVC , Vs=10000 m*¥ h, 2.78 m¥s
wy = 10 000 x 273 x 104. 9 x 33. 2/ [ 101. 3 x
: , (273 +35) x22.4] =13 604 (kg/ h) =3.78 (kg/ 9
, : 410 kmol/h, 0.114
) kmol/ s
, 2.2
, : , V =0.114x (1- 0.1) =0.102 6 (kmol/ 9
25 mm 2.3
: : 95 %),
y1=0.1,
1 Y;=0.1+(1-0.1) =0.11,
- AU 104. 9 Yo= Y1(1-@4) =0.11%0.05=0.005 5,
Pa, 10 000 m* h, X, = 0. 001
33.2,20 % 112 752 kg/ h
25 mm V(Yi- Ys) =0.102 6 x0.104 5=
2 0.011 (kmol/9)
1 2.4 NaOH
""4‘5 LT‘@ 1 kmol 2 kmol NaOH
m } } n \ .
¥ 2x0.011=0.022 (kmol/ s
! ! 20 %
- V. ¥ L.x — (0.022x2x40)/0.2=8.8 (kg/ 9
L — 20 % Jkmol/ s; 20% :
Yi— %: 100 + (20 + 40 + 80 + 18) =20.225 (kg/ kmol)
Yo  %; L  =8.8+20.225=0.435 (kmol/ 9
Xi— ,%:; 1.8 ,
Xp— % L =0.435%x1.8=0.783 (kmol/ 9
1
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2.5

(L/ V) min=0.435+0.102 6 =4.24,
(L/ V)min=(Y1- Y2)/ (X1 - X2),
:(0.11- 0.0055)/ (X, - 0.001) =4.24,
X; =0.0256

2.6
V(Y- Y2) =L(X1- Xa),
X1- X2=0.011/0.783,
X1 =0.015
X1=0.015,
X2 =0.001,
Y, =0.11,
Y,=0.0055,
VvV =0.102 6 kmol/ s,
L =0.783 kmol/ s
3
3.1 Noc

Y=XL/V + (Y- XpL/ V) =
0.783/0.102 6 X + (0.005 5- 7.63 x0.001) =
7.63X - 0.002 13
m:

Y =0.0256m+b Y=7.63X- 0.03265

(X2, Y2, (0.001,0.0055),m=4.25;
- 0.001 25,
Y =4.25X- 0.001 25,
Y1 =4.25x0.015- 0.001 25=0.062 5,
Y, =4.25x0.001- 0.001 25=0.003,
A Yi=Yy- Y7 =0.11- 0.0625=0.047 5,
A Y,=Y,- Y, =0.0055- 0.003=0.002 5,
A Y=
(0.047 5- 0.0025)/In (0.047 5/0.002 5) =
0.0155,
Noc=(VYi- Y2)/AYn=6.7

3.2

Ky=7.95kg/ (m* h) ,
Hos=V/ (KyaQ) =0. 102 6/ (10.9 x 10" ° x

171x3.14) =1.75 (m)

24

3.3

Z= HogX Nog=1.75%x6.7=12 (m)
4

D= ,/4VdTu

Vs=10000 m* h, 2.78 ms,
pPy=1.36 (kg m’) ,
pL =1.297 x10° (kg m%) ,
wy =13 604 (kg/h) ,
L =0.342 (kmol/ 9) ,
wy =112 752 (kg/ h)
(we/ wy) @up)*°=
112 752 +13 604 x (1.36 +1 297) ®° =0.27

, 0.27
0.08,
uBpUp W % (@) =0.08
25 mm ¢ =441,

Y =1000/1297=0.77,
ML =4.0 mPa: s,

X X
Ur = r\ﬁlxo.77><1.36><40.2 =129 (m/

s
60 %,
u=0.60ur=0.60x1.29=0.774 (m/9
D= J(4x2.78)/ (1 x0.774) =2. 14
(m), D=2.2m :
u=4Vd ID? =4x2.78/ (3.14x2.2%) =
0.73 (m/9)
u up=0.73/1.29=57 %
5
75 mm,
(Lw)min=0.08 (m*m *h?Y
0 =185 m’/m®,
Umin=(Lw)m0 =0.08 x 185 =
14.8 (m*>m % h %)
U= (112 752 +1 297) + [t/ 4 x22) =
27.7 (M m 2h"Y) > Unin
6 1m ,



uipdp W 2% (@) =0.572%0.08=0.026, , 25 mm
(wi/ wy) @up)®®=0.27 1 12 m
2.2m 3 360 Pa
: A p/ Z=280 (Pa/ m) 20 % 112 752 kg/ h
280 x 12 = 3 360
(Pa) [1] : ¢ )[sl.
9- 26; 3834/3 529 Pa; (2] : [S].
1450 r/ min; 8; :
8 792/ 12 166 m* h; 18.5 kW; [3] . ( )[M].
20 _ [

( : 252000)
, , «( ) ,
: ( ( ) 10 ,
4.0%) , 60 %, , ,
, ( ) , ,
, , 0.17 0.18 MPa , (

, , ) 0.22 0.24 MPa,
3.0% 3.5%,

* ] 2004 - 10- 08
25



